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Problems to find Complementary function y = y.:

1. Solve (4D* —8D3 — 7D? + 11D +6)y =0 /*2./,/%5./,/%8./
dy d3y d?y dy

2. Sol 4——4——23— 12— 36y =0 *5.

olve 4--3 0r3 d:z:2+ I + 36y /*5./

d4

3. Solved—‘z—i-m"‘yzo /*6./
d* d3 d? dy

4. Solve—y+5—y+6—y—4——8y:() /*8./

dxt dx3 dx? dx

Problems to find General solution y = y. + v, by Inverse differential operator method:

d2
1. Solve d—g—4y:cosh(2:n—1)+2"” /*¥1. [ /%4 ./
2. Solve (D* — 2D +5)y = e**sinz /*1./ /%4 /
d*y
3. Solve — e + 16y = zsin 3z /*1./
dy Ay dy
4. Solveﬁ—i-Gﬁ—i-ll%—i—(ﬁy:ex—i—l /*x1./,/*%4./,/*%5./
d*y
5. Solve prcie 4y = cosh(2x — 1) + 37 /*2./
d> dy
6. Solve =2 +3°% 4 2y — 14 3¢ 4 22 /¥2./,/%8./
dx? dx
d
7. Solve —y—2—y+y:e$cosx /*2./
dx? dx
8. Solve (D — 2)%y = 8(e?* + z + a?) /*3./
9. Solve (D* — 4D + 3)y = €% cos 2x /*3./
10. Solve (D? — 1)y = zsin 3z /*3./
11. Solve (D?* — 6D?* + 11D — 6)y = /*3./
2
12. Solve % + 5Z—y + 62 = 0; Given that y(0) = 0 and 33/(0) 15. /*4./
T
13. Solve (D* +4)y=2*+e " /*5./
14. Solve 3" +4y" — 12y = €2* — 3sin 2z /*6./
15. Solve (D? 4+ 7D + 12)y = coshz /%6./
16. Solve y” + 4y’ + 4y = 8z, Given that y(0) = 1 and y/(0) = 2 /xT./
17. Solve 4" + 4y = 2® + cos 2x + 27% /*T./
18. Solve y" — 2y +y =xe®* + /*7./
19. Solve (D*+ D?* —4D —4)y =3¢ — 4z — 6 /*T./
d? d> d
20. Solve =2 +2° Y 4 “ o= 4 ginog /%8./

dz3 dz?  dx
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Problems to find General solution y by method of undetermined coefficients:

1. Solve y" —y' — 2y = x +sinx /x1./,/%4./
d? d
2. Solved—x’g—3£+2y:x2+e“’” /%2./
3. Solve (D? +2D + 4)y = 22 + 3™ /*¥3./,/%8./
4. Solve (D? —2D)y = e*sinx /*5./
d2
5. Solved—g%—y:Qcosx /*6./
x
6. Solve y” — by’ + 6y = 2e* + 4 cos 2x /*T./

Problems to find General solution y by method of variation of parameters:

1. Solve D?y +y = tanx /*1./,/%4./
d?y 2

2. Solve —= —y = x2 .

OV a2 Y 14 e /*2./

3x
3. Solve y” — 6y + 9y = %5- /%3./
4. Solve (D* — 2D +2)y = e* tanx /*5./
5. Solve 3" + 4y = tan 2. /*6./
6. Solve ¢y’ +y = xsinx /*6:/
7. Solve y”—2y’+y=% /*7./
8. Solve y" + a’y = secax /%8./
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